Untergeschoss SEEE R )

Massstab 1:150

Keller
WHG 0.1/1.1/2.1: 8.0 m?
WHG 3.1: 16.5 m?

Keller 01 Keller 0.2 Keller 0.3 Keller 0.4 Keller 11 Keller 1.2

8.0 m? 8.0 m? 80m? 10.3 m? Hj—r

Keller

WHG 0.2/2.2: 8.0 m?
WHG 1.2: 10.3 m?
WHG 3.2:15.5 m?

Keller 31
16.5 m?

Keller 2.2

Keller 2.1
8.0m?

8.0m?
Keller 1.4
8.0m?
Keller 2.3
Keller 2.4

8.8 m?

Keller
WHG 0.3/2.3: 8.0 m?
WHG 1.3:15.0 m?

Keller
WHG 0.4/1.4: 8.0 m?
WHG 2.4: 8.8 m?

Einstellhalle mit 21 PP
560.5 m?

Parking Einstellhalle
Flache: 145.8 m?

21 Einstellhallen-Parkplatze
(davon 2 IV-PP)

\J

Keller 3.2/ SR Keller1.3 /SR
16.5 m? 15.0 m?






